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Esponenti di 10

Nome:

8,95 x 107 =
~1x10=
1 x10% =
3x10° =
9,77+ 10° =
1,8+ 10° =

6% 10° =

[E—
-
[O8]
I

6,86 x 10° =

517+ 10% =

Data:
3,39 x 10 =
1x10=
6,9+ 10> =
5x10% =
7% 10° =
6,54 + 10 =
1x10° =

9x10° =

6,37 x 10° =

www.snowmath.com

Punteggio:
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Si\irs @@ Y (5 i"ﬂ. Esponenti di 10
Nome: Data: Punteggio: __
8,95 x 10% = 895 3,39 x 10 =33.9
~1x10=-10 1x10=10

1 x 10* = 100 6,9+ 10* = 0.069

3 x 10° = 3000 5x10% =500

9,77 +10° = 0.00977 7% 10° = 7000

1,8+ 10° =0.0018 6, 54 + 10> = 0.0654

6 x 10% = 600 1 x 10° = 100000

10° = 1000 9 x 10° = 900000

6, 86 x 10° = 6860 10 = 100

5,17+ 10* = 0.0517 6,37 x 10" = 6.37
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